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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Choose the correct option : (any seven)

1x7=7
wg Gears! Ak St ¢ (Rt sireby)

(a) Fisher’s ideal formula for index numbers
does not satisfy

I YR AR FRTa e spics 788
Ea

(i) time reversal test
A LT o]

(ii) circular test
JEIIR A

Contd.



‘(i) factor reversal test
Tertir Tearet A
~ (iv) None of the above
8913 B8 T
(Choose the correct option)
(9% Gevei! o)

(b) The general decline in the sales of cotton
clothes is attached to which component
of time series ?

AR AR RFR AR Fxarior e
AT (D! TAITR TS TS 0 SR
(i Trend

. agget
(i) Seasonal variation

YHAST BiTey
(iii) Cyclical variation
R T
(iv) All of the above
' AR FERE R
(Choose the correct option)
(& B&wH! )

(c) Periodic changes in a time series related
to business activities are called

blank)
«Ww@(gtllmthe nk)
ARET @mw(waﬁéﬁqwar)
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(d) In statistical quality control;, when is C
chart used ?

ARTRYIT v Trwe Fagre @ C 5F
JIRPTIW J?

(e) Why is Fisher’s index number called the
ideal index number ?

R e R e @ R

" (f) It has been found empirically that the
Pareto curve fits much betterfor__
income groups. (Fill in the blank)

I PEFOIR GO (IR TR A iy
(3115 AT CoIB’ I R ATarSy |
(3T 7% %7 7))

(g What do you understand by BLUE ?
BLUE 3force1 & @i ®
() InSQC, when is X used ?
R Fe, o X 5 T = =e
() Define general fertility rate.
A TReR T3 Pt
@) What is infant mortality rate ?
RGNS TR e g e
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2.

Answer any four of the following questions :

2x4=8

Rzt 51! 2 Ted 31 ¢

(@)

(b)

()

@)

(e)

(g9)

What are the columns of abridged life
table ? Enumerate them.

WRFEFATS GIA SIFTPR TSEIR &2 st 11 |

Distinguish between gross and net
reproduction rates.

TS R Yo AT PR TTR AR Brai |
State Engel’s law. |

QLIS 00! SrEed 9 |

Distinguish between chance causes and
assignable causes in SQC.

95.fFT.70T AT TRV WS HIHACTN
PRI NES AL o |

What is the ideal about Fisher’s ideal
index number ?

R o spices s e

Write a short note on standardized death
rate.

AT TR a1 esigs @i Gt Bl |

Distinguish between product control and
process control in SQC.

5.5 AR et e oifer e e
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(h) Which component of time series is
mainly applicable in the following cases ?

PN @ Boimia J7e xRS cFae

[R5

(i) Sales of jewellery and ornaments
goes up in marriage season
R 3oge w-opikeiss [l &

(i) Fallin death rate over the years due
to improvement in health care

FY CRIR TASR I 37 IF 4R o
R '

3. Answer any three questions from the
following : o9x3=15
©oR Ricerear fofabr et e 41 3.

(a) With the following data, calculate price
index number by using —
(i) Laspeyre’s, (i) Paasche’s, (i) Fisher’s
index number :

oo f7al SR oIS FAGCATR, 2 W% By

AR I IR TP R 1
2010 2015
Commodities ~ Price Quantity Price Quantity
A 20 8 40 6
B 50 10 60 5
C 40 15 50 10
D 20 20 20 50
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(b) What do you mean by cost of living index
~ number ? Explain different uses of index

numbers. : :
ST S IS TR o R @t 2 PRI
Rfon IrgTrR F | |

(c) What are different methods for studying
trend ? Describe the least square method
for fitted trend to time series data.
RSt R TR ~iafoomz [ Rre wecafa
2RI fRef%1 IR U 35 Aot 3efar 3 |

(d) Write a note on Gini’s coefficient.
IR 2l 8olre «fS S it |

(e) Distinguish clearly between control
charts for variability and control charts
for attributes.
SREPTITOIR A T 516 W wefiwed AT
el 5169 wrere tefey et 3= |

() Whatis standardised dealth rate ? What
are the advantages and disadvantages
of this death rate ?

A ToR 2R Rre @2 PR IR R4 W
PR Bt e

(g) Discuss di.fferent columns of life table
together with thejr interpretation.

G oiferia Rty
i, BRI CTCS =000
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(h) Describe demand and supply curve
mentioning the uses and limitations of

these curves.

DI Wi AN I 361 TR GBI IR
% FREe! S 311 |

4. Answer any three questions from the
following : 10x3=30
@ AR oA o e i

(@) Discuss different fertility rates,
comparing their advantages and

disadvantages.

Rifen TToR Y w9 O TR SR SRUTR
S 3 |

(b) Discuss various problems involved in the
construction of index numbers.

WHIT FSFITS T (N RiSH TRImR

e 1 |
() Explain the procedures of construction
of various control charts for variables

and explain how they are used.
e ] Rfen e 516 ere 3111 afFiaER
I 3R P CIRAIR (FEME I I I
Bl

(d) Explain and describe the terms

‘producer’s risk’, ‘consumer’s risk’,
‘AOQL’ and ‘LTPD’, 2%x4=10
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ToAMI S, TATSISIT =, ‘AOQL’

Q% LTPD’ M & 3@t i o3 [estmet 34 |
(e) Write a note on some of the important

sources of demographic data in our

country.

I (PR ST SR g wags e Beom

@[T oI (BTl e 311 |

() Explain the concepts of autoregressive
series, autocorrelation and correlegram
Define the uses of time series data.

FRIET W90, FRE AR T o
(AT (NI I T | wac‘ﬂa’

IRRIR I 51 |

(g) Describe the moving average method.
What are the advantages and
disadvantages of this method ?

TR DTS 1 AR 37} 41 | 9% A= o]
RSP RYITE SIS 341 |

(h) State Pareto’s law of income dlstnbutlon
and explain the significance of its

{)arameters. Mention the limitation of the
aw.

wﬁm%cﬂmmﬁr«maﬁwmm
AL T 5 B I o SRR BB

fﬁﬂﬁ'ﬁw W |

\
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